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BCQ/A-17
INCOME TAX
Paper-I

Time allowed : 3 hours] [Maximum marks : 80

Note :  Attempt five questions in all, selecting at least one

e :

question but not more than two questions from each unit.
All questions carry equal marks.
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Unit-1 (37-1)
‘Income Tax is charged on the income of previous year’.

Do you fully agree with this statement ? [f not; what are the

exceptions? 16
W‘fﬁaﬁaﬁ’aﬁmwm%wmwmﬁgﬁm
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How would you determine the residential status of a person ?
' 16
m%wﬁﬁﬂﬁﬁm@wmﬁfﬁmwﬁﬁaﬁﬁﬂ? 16

From the following particulars, find out the taxable salary of
Mrs. Aasha working at Coimbatore (population 11 lacs)-

(a) SalaryRs. 12,000 pm.
(b) D.A.Rs.1,500 pm.
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(c) Employer’s contribution to Recognised Provident Fund
14% of basic salary.

(d) Rentfree accommodation (unfurnished), fair rental value is
Rs. 80,000/~ p.a. Expenses on the maintenance of garden
met by employer Rs. 3,000.

(e) Intereston Provident Fund balance @ 13% p.a. Rs. 3,900.

(f) A Car (1.4 litres capacity) is provided by employer. All
expenses are borne by employer. It is used both for
performance of duties and private pﬁrposcs. Car was used
by employee for only 11 months during the year.

(g) She paid professional tax of Rs. 200. |

(h) She received Rs. 500 pm. as fixed medical allowance. 16
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Unit-—T11 (gr€-111)
Write short notes on the following : 8+8

(a) Permanent Account Number

(b) Re-assessment

P R Rabr R 8+8
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Explain the provisions relating to set off and carry forward of

. losses under Income Tax Act, 1961. \ 16

mﬁﬁgﬁammamﬂﬁmﬁmm, 1961
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What do you understand by Advance Payment of Tax ? Explain
clearly the Provisions of Income Tax Act 1961. 16
& AW TEE & U oA ¥ ? 3@ wEw § e
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The landlord bears the following expenses on tenant’s amenities
under an agreemenf—
Water charges Rs. 1,000/-
Lift maintenance ~ Rs. 1,000/~
Lighting of Stairs Rs. 800/-
Gardener’s Salary : Rs. 1,200/-
The Landlord claims the following deductions-
Repairs 30,000/-

' Land Revenue 1,000/-
Collection Charges 2,000/-

'Legal charges incurred in connection with the purchase of land
on which the house is built Rs. 24,000/-. Conipute the taxable
income from the house property for AY-2015-16.

A Rt 3 w0 Wit ®1 g AR 99 5. 75,0000 2,
I BetmEr 8. 1,00,000/-, yarg R 5. 90,000/- &) =9
©. 90,000/~ 5. = ¥ fw W R ™ ¥ WRw @ a3
TR FT 5. 10,000~ 2, af wivs 3 PRwR @ o
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S NI 5. 1,000/-
Rree argReTer 5. 1,000/-
ifeat &1 wHe 5. 800/-

W A 5. 1.200/-

21130

(5)
mmmﬁwra,aﬁﬁmmm%-

T 30,000/-
-  1,000/-
wE - 2,000/
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5. 24,000/~ §12015-16 & ¢ Faier af i wom TR & 3T
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Explain clearly the deductions that are expressly allowed in
Computing the income from business under Indian Income Tax

Act, 1961. : ' 16
AT SR, 1961 & Stwria 2aEd § O< A Al Q@
Y W Wi Haadl B we w9 § aoie Y 16
Write short notes on :
Ay fewftr ford
(a) Shortterm (;apital assets

AT GOt e
(b) Profitor loss on sale of securities.
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(¢) Bond washing transactions
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7. Mis. Singh and Jain s a firm of Chartered Accountants in which
Singh, Jain and Narain are working partners sharing profits and
losses in the ratio of 2 : 1 : 1. The firm showed a net surplus of
Rs. 57,000/~ for the year ended 31-3-2016. Following are the
items which are found debited in Income and Expenditure
Account of the firm.
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#131-3-2016 H warq 2R a@ af § & A 9@ = 57,000/

| et TR @ o 9 =g @R # AR B
1.  Salary to Jain Rs. 7,000/- :
Salary to Narain Rs. 9,800/-
2. Commission to Narain Rs. 4,800/-
Commission to Singh Rs. 6,000/-
3. Interest on Capital @ 20%%
Singh 6,000/-
Jain-4,000/-
4. Customs penalty paid Rs. 3000/-
5. Rent of 3,600/- paid to Jain in respect ;f the house let out by
him to the firm.
Compute the total inoame of the firm fr AY 2015416, The fim
fulfils the condition of sec. 184.

AY 2015-16 % fe & % % o s | o o 184 # o g
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A is the owner of a house property in Delhi. Its municipal value
is Rs. 75,000/-. Fair Rent is Rs. 1,00,000/-, Standard Rent is

Rs. 90,000/. It has been let out for Rs. 90,000/~ p.a. The

municipal tax payable by the owner comes to Rs. 10,000 but the

| landlord has taken an agreement from the tenant stating that the

tenant would pay the tax direct to municipality. The landlord bears

the follawing expenses on tenant’s amenities under an agreement-

16
Water charges Rs. 1;000;’ -
Lift maintenance Rs. 1,000/-
Lightening of stairs Rs. 800/-
Gardener’s salary Rs. 1,200/-
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